== A
N = 0] &8 AF S & AN A
20188 = 20l A LEHS H S X & 2t
SA: 2X™ 2
E: =SUMH 25
Sl XISAS =X CERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
S XA 2 12,086,869 12,676,788 A 589,919
= 2,888,920
Jl 37,830
Al HI 8,027,537
Tl 1,132,582
Sy 23 5,685,618 5,680,414 5,204
= 1,244,543
Al HI 3,905,174
Tyl 535,901
XNEAls SX#EH 4,464,829 4,489,125 N 24,296
= 386,298
Al Hl 3,713,652
=1 364,879
Al 22X 2 29 2,777,600 2,777,600 0
Al HI 2,767,000
24| 10,600
307 QI2t0| ™ 2,777,600 2,777,600 0
Al Hl 2,767,000
24| 10,600
05 QIZtREZ 2,777,600 2,777,600 0
OAMZIEX& 29 X 2,767,000,000& 2,767,000
Al HI 2,767,000
OFs=EXS M)lg BX 3,600,000& 3,600
OSFAMOIIIE REas=2AMY X
7,000,000& 7,000
SANHYE HRAJ 69,911 53,204 16,707
= 26,000
24| 43,911
201 et | 16,173 24,936 AN8,763
01 AP 2t 2] d| 15,813 24,396 A 8,583
OXSANIEEHE A HE
(9,000 *7034)*90%-!*(27,OOO-O\:J *702 )*90% 2,268
OMNBITENZSY BSASH S M
20,000 «300H *90% 540
OXNSEMIIEHEAM FIZFE M
9,000 x50 *90% 405
OX&E=X 2 - 288 2483 29
1,800,000 1,800
Oglu=X eretg) 10,800,000& 10,800
02 2% H| 360 540 A 180
OMl RS2k SEHEANAL FHHIU)] 2
A 30,000 x12& 360
203 ¥ 2 =&XH| 24,570 25,100 A 530
03 AIZH =& 25 X H| 24,570 25,100 A 530
OZ2X&ed= gxx 2,880,000 2,880




SN SXYBD

g =NEM 23
chelr XIHAE =XHE (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OBHH& A2 g2F2 19,800, 000& 19,800
OAMI=R SRFA 1,170,000 1,170
OgtZ &S AHEIA 2HI 2HE 3 720,000& 720
301 L2 A F 29,168 3,168 26,000
= 26,000
-l 3,168
0B A =RQAB LS 29,168 3,168 26,000
OAM3=X SRE=X 29,168
a8, usSdl, ISl 26,000,000& 26,000
= 26,000
- SA| 6,0003 x2H 222 128 3,168
MISXNHMEIRH REX MRS HIX 104,622 25,344 79,278
= 79,000
AlHI 12,950
I 12,672
301 L2 A F 104,622 25,344 79,278
= 79,000
Al HI 12,950
i 12,672
08 M =RRIBLS 104,622 25,344 79,278
OMIASANEE IR IREX 104,622
=2, uSHl,I=H 79,000,000 79,000
= 79,000
- SA| 25,622,000& 25,622
AlHI 12,950
T4l 12,672
M2 ZSXAIE M=K 167,056 39,600 127,456
= 133,000
AlHI 14,256
T Hl 19,800
301 gt d= 167,056 39,600 127,456
= 133,000
AlHI 14,256
- Hl 19,800
0B MBI ERRIABN= 167,056 39,600 127,456
OMII=XRNAE AMII=ERRE 167,056
=2, usSdl, I =l 133,000, 000& 133,000
= 133,000
-S4l 34,056, 000& 34,056
Al HI 14,256
I 19,800
M4Jl NLDAZ2EEAE =8 24,300 0 24,300
201 LBt2d| 1,800 0 1,800
01 At 22l 1,800 0 1,800
OXGAtal2&HH e =8 &3 1,800,000 1,800
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SH =SNEMY
M SXNEM La
Sl XISAS =X CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
207 & O] 22,500 0 22,500
01 284 22,500 0 22,500
OHM4Il XA EEHAHE =8 2249
22,500,000& 22,500
e 29 15,500 11,677 3,823
201 Let249] 14,000 11,677 2,323
02 =24l 14,000 11,677 2,323
Os3l2 2323 8,000,000& 8,000
OEs3at FXEx=22| 5,000,000& 5,000
OEssl& 2YAE &3 1,000, 000& 1,000
405 XHoHF S HI 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
O3l XdtE HsIl ¢ 1,500, 000& 1,500
=RSES =N DN 915,000 963,000 A 48,000
Al 900,000
I 15,000
301 et a = 915,000 963,000 A 48,000
AlH 900,000
4l 15,000
01 MEIBEE 263 915,000 963,000 A 48,000
OFEREXN B 900,000, 000& 900,000
AlHI 900,000
ORI A2 15,000, 000& 15,000
=ER3A4 A& 7,200 0 7,200
301 et d s 7,200 0 7,200
01 MEI2ZE 406z 7,200 0 7,200
O=SERIA = Ad2 36 +100,000& 23] 7,200
A EHH S XI& 124,500 117,300 7,200
307 21201 A 124,500 117,300 7,200
02 HAFHAANFEE 93,400 79,000 14,400
OLltetArg 22CH #sXd3 79,700,000 79,700
OAt2l &Ml s2&8s X 13,700
MBS XA A S5t 2,500,000 2,500
CHAUNCEIS HEES
1674 & +700,000& 11,200
03 QIZtHNHE2LHEX 31,100 38,300 AT7,200
OltctAtg E=2HX 228 X
31,100,000& 31,100
= NGABZEAM 2L XA 16,000 24,000 A8,000
201 et 16,000 24,000 A 8,000
01 AP 2teltl 16,000 12,000 4,000




2N

M =2UEH 25
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O%ds 238 XA 16,000, 000& 16,000
SgAtdl e XA (s=XIs23) 129,640 92,400 37,240
= 90,748
Al 19,446
I 19,446
201 L2l 28,020 15,400 12,620
= 19,614
AlHI 4,203
I 4,203
01 At 22l I 28,020 15,400 12,620
Os=sillsds 2828 7Y S
28,020,000& 28,020
= 19,614
Al 4,203
I 4,203
301 et as 101,620 77,000 24,620
= 71,134
AlHl 15,243
L Hl 15,243
01 MEIBEE 263 101,620 77,000 24,620
Os SeAdl &2l A 101,620, 000& 101,620
= 71,134
AlHI 15,243
T Hl 15,243
HOtdt= SXNAMHA EXH 108,500 385,000 A 276,500
= 57,550
- Hl 50,950
405 TtabH S| 108,500 385,000 A 276,500
= 57,550
-l 50,950
01 AR ESFH S 108,500 385,000 A 276,500
Osd =X8 &2 g 7 108,500
&I XtH(3CH) 79,500,000& 79,500
= 43,050
- Hl 36,450
Jr& el Xt (2th) 29,000,000& 29,000
= 14,500
L Hl 14,500
D=A S E a3 AIAE 25 5,000 0 5,000
201 24| 5,000 0 5,000
01 At 2t 2l 5,000 0 5,000
Oeotalora & ot g HMZ 5,000,000& 5,000
N Ate LhsF=a 1,220,789 1,191,289 29,500
= 858,245
Al 191,522
I 171,022




/\-I.
= :
: _\j[|c'>|_|_H o"él'

el

X ZH
S =

EPARSE )

XS Ate Ls=a

SA - BB B () - MM - BES Ol &t o San HmEET

28 EXX& 968,669 968,669 0
= 774,935
AlHI 96,867
- Hl 96,867

301 gtE L= 968,669 968,669 0
= 774,935
AlHI 96,867
- Hl 96,867

01 M2I2EZE+06l= 968,669 968,669 0
Oz2as =EXXA 968,669, 000 968,669
= 774,935
Al HI 96,867
I 96,867

JIERCSHWI 2Y 31,000 6,000 25,000
AlHI 3,000
I 28,000

307 21201 A 31,000 6,000 25,000
AlHI 3,000
L Hl 28,000

11T MISRASEX 31,000 6,000 25,000
OJI=#E%3 29 X 31,000,000& 31,000
AlHI 3,000
T Hl 28,000

IZZCSON 29 50,000 50,000 0
Al 50,000

307 21201 A 50,000 50,000 0
Al HI 50,000

05 BIZHRIE 3 50,000 50,000 0
OJI=ZE0t 29 50,000,000& 50,000
AlHI 50,000

SE Al 2t el At el bl XI& 156,120 151,620 4,500
= 75,810
AlHI 37,905
T Hl 42,405

101 @14 dl 156,120 151,620 4,500
= 75,810
AlHI 37,905
T Hl 42,405

04 DIt 22 XREES 156,120 151,620 4,500
OMEIEXESEMNEIA 8223 151,620,000& 151,620
= 75,810
Al 37,905
I 37,905
OZFEF Il 300,000& x5F #23| 3,000
OXEE =XNEQUE 300,000 x5H 1,500

SetAtel 2l (At 2el2Edl) 15,000 15,000 0




SH SNEHY
E: =2XFY 25
Sl XA LisET

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2

= 7,500
Al HI 3,750
T 3,750

201 LBt Y| 7,000 7,000 0
= 3,500
Al HI 1,750
T 1,750

01 AP 22| d| 7,000 7,000 0
OAdl22lAtY 29l X 7,000,000& 7,000
= 3,500
Al HI 1,750
Tl 1,750

301 YstE A 8,000 8,000 0
= 4,000
Al HI 2,000
24| 2,000

01 Al E&E A %52 8,000 8,000 0
OAHHl 22l A 8,000,000& 8,000
= 4,000
Al HI 2,000
24 2,000

OS2 Xl &ak 5,612,901 5,807,882 A 194,981
= 1,451,248
Al HI 3,871,979
T 289,674

OlsEs 5,612,901 5,807,882 A 194,981
= 1,451,248
Al HI 3,871,979
T 289,674

FONE OISSHAHIA X8 322,500 270,000 52,500
2 318,000
T 4,500

101 Q124 H] 143,500 133,000 10,500
= 139,000
T 4,500

04 JI2ZtHIZ22NEES 143,500 133,000 10,500
Ool2tg=sioled ol 139,000,000 139,000
= 139,000
OY&E 5| 300,000 x5 x23| 3,000
O%sd EXEQE 300,000& «5H 1,500

201 gEt24H | 102,000 61,000 41,000
= 102,000

01 AP 22| d| 91,000 47,000 44,000
OEEHAEE T )d 2 29 91,000,000 91,000
= 91,000

02 2% 4| 11,000 14,000 A 3,000




2N

M OlS=X A

el OlEES (chel m )

SA - BB B () - MM - BES Ol &t o San HmEET

O332=3 11,000, 000& 11,000
= 11,000

202 oddl 17,000 16,000 1,000
= 17,000

01 = LH o4 1l 17,000 16,000 1,000
OEHARE HNIASH 17,000, 000& 17,000
= 17,000

203 ¥ S =&l 2,000 2,000 0
= 2,000

03 AIMF=XH R =AH| 2,000 2,000 0
OEYAEE FRFA 2,000,000& 2,000
= 2,000

301 L2 LS 7,000 7,000 0
= 7,000

09 HALAHIE& S 5,000 5,000 0
ONESALA & 3K A 5,000,000 5,000
= 5,000

1MIIEELES 2,000 2,000 0
OUAEE AL EEI7 B4 2,000,000& 2,000
= 2,000

307 glz2tol & 51,000 51,000 0
= 51,000

11T MISXASEX 51,000 51,000 0
O=8iadZz ) 29 XA 51,000,000& 51,000
= 51,000

OIS SN DAHAIEI A A2l ) 236,130 224,430 11,700
= 112,215
Al Hl 112,215
I 11,700

101 1A dl 236,130 224,430 11,700
= 112,215
Al Hl 112,215
I 11,700

04 JI2ZtHZ22HEE = 236,130 224,430 11,700
OOt =R WA Q1 24H| 224,430,000 224,430
= 112,215
AlHI 112,215
OZEFOHI 300,000 »13H 23] 7,800
OXEE =sNEQUE 300,000& »13H 3,900

g2 - 2ssE 0ls SAXE 1,051,697 1,177,896 A 126,199
Al 788,773
- Hl 262,924

301 gt d= 1,051,697 1,177,896 A 126,199
AlH 788,773




SM: =2XNEHY
=RV (-

ol OtsE s (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
-t 262,924
01 MEIBZE 06z 1,051,697 1,177,896 A 126,199
OBY - stz 0S4 X2
1,051,697,000& 1,051,697
AlHI 788,773
1 Hl 262,924
E- 3252 Ots=4X& 285,986 285,986 0
AlHI 285,986
301 g2 4= 285,986 285,986 0
AlHI 285,986
01 MEI2EZE 406z 285,986 285,986 0
OE-35Y otss34 XA 285,986,000 285,986
Al Hl 285,986
IIERIE , AEAH AIE0lS UHESES N2 24,500 22,500 2,000
Al HI 24,500
301 et a3z 24,500 22,500 2,000
Al HI 24,500
01 MEIBEE 253 24,500 22,500 2,000
ONERAE, 28AH, NE0ts HESES X
el 24,500,000& 24,500
Altl 24,500
A2EAH 2 IERE Ol 28 N2 181,800 181,800 0
AlHI 181,800
301 L2 LS 181,800 181,800 0
AlHI 181,800
01 MEIBEE 2053 181,800 181,800 0
OAEAHIIE & JHEREs &5 N&
181,800, 000& 181,800
Al HI 181,800
AEAHINE & IIEREOS NHEXR 50,000 80,000 A 30,000
AlHI 50,000
301 LEtE A= 50,000 80,000 A 30,000
AlHI 50,000
01 MEIBEZE 06z 50,000 80,000 A 30,000
OAEAHIE & JIEREOsS HEXZ
50,000,000& 50,000
AlHI 50,000
ANE0ts Ad=s4 X& 46,900 42,212 4,688
AlHI 46,900
301 getE 4= 46,900 42,212 4,688
AlHI 46,900
01 MEI2EZE +5l= 46,900 42,212 4,688
OANEots dEs4 X 46,900,000& 46,900
Al HI 46,900




SM: =2XNEHY
=RV (-

ool olsEs (G EE)
SA - BB B () - MM - BES Ol &t o San HmEET
Ots2Y XA X3 191,478 149,231 42,247
= 134,035
AlHI 57,443

301 gt d= 191,478 149,231 42,247
= 134,035
Al 57,443

01 Ml2ZHE 6= 191,478 149,231 42,247
Ootsgg X2HE X 191,478,000& 191,478
= 134,035
Al HI 57,443

MAZH(OlSLEAA) 194,444 207,987 A 13,543
= 175,000
AlHI 19,444

301 L2 A F 194,444 207,987 A 13,543
= 175,000
AlHI 19,444

01 MEIBEE 2053 194,444 207,987 A 13,543
O0ts2dSAIE MHS=O 194,444,000 194,444
= 175,000
AlHI 19,444

OtEL=EAE 29 1,389,663 1,544,951 A 155,288
Al 1,389,663

307 21201 A 1,389,663 1,544,951 A 155,288
AlHI 1,389,663

10 M2 SXNANEHE2IHEX 1,389,663 1,544,951 A 155,288
OltsLEANE 29 1,389,663, 000& 1,389,663
AlHI 1,389,663

RES0ls 88 22 71,022 90,556 N 19,534
= 28,409
AlHI 42,613

307 gl2tol & 71,022 90,556 AN 19,534
= 28,409
AlHI 42,613

10 M3 ZXNANEHI2IHEXR 71,022 90,556 A 19,534

TESHEINF(AEE)22AH L 2l

71,022,000 71,022
= 28,409
AlHI 42,613

Siimlciols &E (2L, A2Hl, AtHl) 132,215 126,470 5,745
= 52,886
AlH 79,329

307 gl2tol & 132,215 126,470 5,745
= 52,886
AlH 79,329

10 AL SXNAIEEE2EHEX 132,215 126,470 5,745




SM: =2XNEHY
=RV (-

ol OtsE s (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
SEEFENEEEIEEREE
132,215,000& 132,215
= 52,886
AlHI 79,329
Sooiots 8188 24 22,660 22,000 660
AlHI 22,660
307 gl2tol & 22,660 22,000 660
Al 22,660
10 AL SXAIEEE2EHEX 22,660 22,000 660
Osttimsfiolts dg1E&(dtsH) 22
22,660,000 22,660
AlHI 22,660
SSHEIE 28 N 15,000 15,000 0
Al 15,000
307 21201 A 15,000 15,000 0
Al 15,000
10 Al SXAIEEE2EHEX 15,000 15,000 0
TEMEIY(DEE)BAR =X+
15,000, 000& 15,000
AlHI 15,000
Ols SSHEIIE AEsH 7,640 7,960 A 320
Al 7,640
307 212+0| & 7.640 7,960 320
AlHI 7,640
11T AL S XA E = 7,640 7,960 A 320
Olts S2sd4Eld Ad8=4 7,640,000 7,640
AlHI 7,640
ogr, JHFIE OS A2XE X 3,000 2,400 600
= 2,100
AlHI 900
301 gt a= 3,000 2,400 600
= 2,100
AlHI 900
01 Ml2EZE 06z 3,000 2,400 600
O - I ZRE Ots delxlz X
3,000,000 3,000
= 2,100
AlHI 900
AAOISIHEXNA (¥EH) 126,000 120,600 5,400
= 88,200
AlH 37,800
301 gEtE 4= 126,000 120,600 5,400
= 88,200
AlH 37,800
01 Ml2ZE 6= 126,000 120,600 5,400




SH =SNEMY
I OlsS Al &at
g otseE s (9%_@%)
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OYAots s I 126,000,000 126,000
= 88,200
Al HI 37,800
QANISIIESRH (LA=AHI2 DU S) 2,100 2,100 0
= 1,470
Al HI 630
301 et A= 2,100 2,100 0
2 1,470
Al H] 630
01 Al B & A 462 2,100 2,100 0
Oee=I|2t 2XXE2 2,100,000 2,100
= 1,470
Al H] 630
IS IIE N (L 2LH I =) 8,100 2,700 5,400
= 5,670
Al H] 2,430
301 et A= 8,100 2,700 5,400
= 5,670
Al H] 2,430
01 Al E& A 252 8,100 2,700 5,400
ogddlE NA 8,100,000 8,100
= 5,670
Al H] 2,430
UAISIIEN R (TH0lS Y ASGE) 8,612 8,612 0
= 6,028
Al H] 2,584
301 et A= 8,612 8,612 0
= 6,028
Al H] 2,584
01 A3 B & A 462 8,612 8,612 0
O&otEs gAA=m2t I 8,612,000 8,612
= 6,028
AlH] 2,584
Qler=st2 X3 4,000 4,000 0
Al HI 4,000
301 et A= 4,000 4,000 0
Al HI 4,000
01 Ml EXEE 4562 4,000 4,000 0
OgAx=dl= 4.,000,000& 4,000
Al H] 4,000
XNEOotSHEH 29 XA 941,460 998,616 AB7,156
= 470,730
Al H] 470,730
307 212t0| & 941,460 998,616 AB7,156
= 470,730




S2A: EXNAE MY
M OlS=X A
el OlEES (chel m )
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 470,730
10 AR SEXAIEEE2IHIEX 941,460 998,616 N57,156
OX<otsdy 29 X& 941,460, 000& 941,460
=2 470,730
AlH] 470,730
ELSHY XE0otsdEH K& 58,804 0 58,804
= 29,402
Al t] 29,402
307 212t0| & 58,804 0 58,804
= 29,402
Al Hl 29,402
10 AIRIEXAIEEHAE2IGHIEX 58,804 0 58,804
OEx+=2d8d XNY90otsdE XI& 58,804,000 58,804
= 29,402
Al H] 29,402
NEOotsSHE AL HSME X 65,970 66,600 A 630
Al H] 65,970
307 QI2t0| & 65,970 66,600 A 630
AlH] 65,970
10 MBS RAEHE 2SI B 65,970 66,600 £630
OXAOSHESMA HSMe X2
65,970,000& 65,970
Al H] 65,970
Or2t & XgotsHdE X3 15,600 7,800 7,800
AlH] 15,600
307 212t0| & 15,600 7,800 7,800
AlH] 15,600
10 Al SXNAIEEE2IHIEX 15,600 7,800 7,800
OO0 ES X AOtSHEH X 15,600,000 15,600
Al HI 15,600
XNEotsHE IPTV 28 29 X 25,476 25,380 96
Al H] 25,476
307 QI2t0| & 25,476 25,380 96
Al H] 25,476
10 AR SXAIEEE2IHIEX 25,476 25,380 96
OXNdotsHEH IPTV 282 29 I
25,476,000& 25,476
Al HI 25,476
XSG 0otsHE X 39,576 0 39,576
= 19,788
Al H] 19,788
307 QI2t0| & 39,576 0 39,576
= 19,788
Al H] 19,788
10 Al SXNAIEEE2IHIEX 39,576 0 39,576




SM: =2XNEHY
=RV (-

ol OtsE s (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEES I EREINE] 39,576,000 39,576
= 19,788
Al 19,788
EQRINIA (s SsHEIA) 14,630 49,248 A 34,618
= 7.315
AlHI 7,315
307 21201 A 14,630 49,248 A 34,618
= 7,315
AlHI 7,315
10 ALSISEXAIEEE2EHEX 14,630 49,248 A 34,618
OgnE SEMHA(ER2HH])
14,630,000 14,630
= 7.315
Al 7,315
gUE SSAMEIA (AL 22,423 17,277 5,146
AlHI 22,423
307 glz2tol & 22,423 17,277 5,146
AlHI 22,423
10 ALSISXAIEHE2EH EX 22,423 17,277 5,146
Ozctel st =2l 8,500,000 8,500
Al 8,500
Od - Hery| 5,559,000& 5,559
AlHI 5,559
OUHMHR& 3,570,000 3,570
Al 3,570
OE4&AMIIIE 24| 4,794,000 4,794
AlHI 4,794
A0t ANEEES 40,000 40,000 0
AlHI 40,000
301 et d = 40,000 40,000 0
AlHI 40,000
01 MEI2EZE 6= 40,000 40,000 0
OAE EA0ts MHER3EAS XA
40,000,000& 40,000
AlHI 40,000
Ots=XALY 24 2,550 3,000 A 450
201 £B-2dH| 2,550 3,000 A 450
01 At 22/l 2,550 3,000 A 450
Oots - 8ad 2228 S 2,550,000 2,550
0i2l0l=0lH & OtsEAEAIE 22l 3,000 3,000 0
401 A& HIZ 201 Y| 3,000 3,000 0
01 A&l 3,000 3,000 0
OOZOISO0IE ¥ OFSHAEAL 22|
3,000,000& 3,000

_13_




SH =SNEMY
HE: OlS=X B4
@2 OIsE s EEREED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OtsAlE etdael & SZosdl X 2,965 7,570 A 4,605
AlHI 2,965
307 gl2tol & 2,965 7,570 A 4,605
Al 2,965
10 AL SXNAIEEE2EH EX 2,965 7,570 A 4,605
OO0tsSAlg et ztel & A X2
2,965,000 2,965
AlHI 2,965
Ots&stEAl =4 5,000 0 5,000
201 Let24d] 5,000 0 5,000
02 =24l 5,000 0 5,000
OOt &S T Al NEFRE2S A
5,000,000& 5,000
F2EXE ¥ ES 765,062 1,164,140 A 399,078
= 193,129
J| 37,830
Al Hl 250,384
I 283,719
FAaHE XS 765,062 1,164,140 A 399,078
= 193,129
J| 37,830
Al HI 250,384
I 283,719
FA2EHSEOE 29 26,390 29,750 A 3,360
J| 10,600
Al Hl 7,895
I 7,895
201 et 390 1,750 A 1,360
J| 200
Al HI 95
i 95
01 At 2teltl 390 1,750 A 1,360
OFEad H=gioe 249 390,000& 390
J| 200
Al 95
T Hl 95
307 gl2tol & 26,000 28,000 A 2,000
J| 10,400
AlHI 7,800
T Hl 7,800
11T M SRASE EX 26,000 28,000 A 2,000
O&AE H=230teg 24 XNI&  26,000,000& 26,000
J| 10,400
Al HI 7,800
Tl 7,800
da48 s0tel A& 23,870 22,500 1,370




2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

SA - ZE-B(EN) - NRAY - B S il &t o il 2t
Jl 9,550
AlHI 7,160
T Hl 7,160
307 @12+0| & 23,870 22,500 1,370
J| 9,550
AlHI 7,160
T Hl 7,160
11T MISXASEX 23,870 22,500 1,370
O&ad sotel XA 23,870,000 23,870
J| 9,550
AlH 7,160
-l 7,160
Fad SEEIE 10,000 10,000 0
J| 7,000
Al HI 3,000
301 et a3z 9,760 9,760 0
J| 7,000
Al HI 2,760
01 AR 2Z A5 3 9,760 9,760 0
OEgXae 3448 XA 9,760,000 9,760
J| 7,000
AlHI 2,760
307 gl2tol & 240 240 0
AlHI 240
11T M SRAISE EX 240 240 0
OSEXNdUs Fad &€ X 240,000& 240
Al Hl 240
44 B3 10,986 10,506 480
201 LBt 8,044 7,406 638
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